'gyj'_j!

| 1 place

ISTRUZIONI DI MONTAGGIO
assembly instructions

Sy
\\

Letto con pediera
bed with footboard

PC 160 bed “TRACCIA"L. 160

PC 140 bed “TRACCIA" L. 140 PC 85 bed “TRACCIA"L. 85

REV. 00 195P004







optional

2X
&)

<\
<SS
S

Je

3,5x15

HARDWARE LIST
A B C D F G H J K
24x 16X %?x 16X 6X 12x % 18x %?x 3 2X
@8x35 | @7x35|@14x18 | M8X10 @4x25 | 630x18 @20 @314X16 [120x82x45
L Q R
2X 2X 2X
e
& &
110x30x15 M6x35 | M6X6 1000x40X4 &3,5x15|86x50x22| M8x20
W Al A2 A4
30x 2X 2X 2X 2X
@ 4x35 |@3,5x15|29x10,5| @ 4x20 | @ 4x35 | @ 4x20 M4x24







step 21

step 02




@ 4x35 | @ 4x20

@8x35 | @14x18| M8x10

step 03

[ —]




630x18

214x16

2 9x10,5 [86x50x22| M6X15













14x

H
220

step 08

step 15




step 09

12x

B4x25

step 14

ONLY FORL.140-L.160

1000x40x4

86x50x22




" OBBLIGATORIO - MUST BE!




\\\ I,
W10

/L7,




